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BACHELOR'S DEGREE PROGRAMME (BDP) / 
CERTIFICATE PROGRAMME IN TEACHING OF 
PRIMARY SCHOOL MATHEMATICS (C.T.P.M.) 

Term-End Examination 

December, 2013 

(APPLICATION ORIENTED COURSE) 
AMT-01 : TEACHING OF PRIMARY SCHOOL 

MATHEMATICS 

Time : 3 hours 	 Maximum Marks : 100 
Weightage 70% 

Note : Question no.1 is compulsory. Attempt any 8 questions 
from q.2 to q.10. 

1. 	(a) Mathew plays foot ball. State two different 	4 
mathematical concepts he used for this. 
Justify your answer. 

(b) 'Mathematics is hierarchical in nature'. 	4 
Justify this statement with help of two 
examples. 

(c) Give two different word problems for each 	4 
of the two statements given below 
(i) 	3 +4 = 7 (ii) 30 — 18 =12. 

(d) Explain why use of concrete material and 	4 
hands on experiences, in teaching learning 
of mathematics at primary level are more 
effective. Illustrate with the help of one 
example each. 
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(e) 	Represent pictorially 	 4 
(i) 	.17 and .07 

1 1 

	

2. 	(a) Enlist two pre-number concepts. Why they 	6 
are called pre number concepts ? Detail out 
one strategy each to help children learn 
these concepts. 

	

(b) Suggest two activities of different kinds that 	4 
would help children arrive at a formula that 
relates centimetres to metres. 

	

3. 	(a) Ramesh solved the division problem as 
shown below : 

36 
3)918 

9  

18 

18 

x 

(i) What is the mistake he committed ? 	1 
(ii) What is the probable reason for his 	2 

mistake ? 
(iii) Devise a strategy to overcome his 3 

misconception. 

	

(b) Give an example each of a regular and an 	4 
irregular closed two-dimensional figure. 
Also give a method for finding their areas. 

	

4. 	(a) Enlist two situations each from our daily life 
in which we use 
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(i) Geometry 
(ii) Integers 
(iii) Algebra 

(b) What is an 'open-ended' question ? Give 	4 
two examples of such questions, one 
pertaining to single digit addition and one 
to multiplication. 

5. (a) Mira 8 years old has her birthday in 	4 
December and Mohan (6 years old) has his 
birthday in April. Mira says Mohan is older 
than her. What is the misconception Mira 
has ? Derive a detailed strategy to help Mira 
overcome this misconception. 

(b) What do you understand by the term 	6 
angle ? Give two situations in which a child 
would need to use the concept of an angle. 
Devise a detailed paper folding activity to 
introduce the concept of an angle to class 5 
children. 

6. (a) What do you understand by non-standard 	6 

and standard units of measurement ? Devise 
a group activity for a class of 30 children, in 
the context of measurement of length. Also 
integrate the concept of estimation in it. 

(b) What do you understand by symmetry ? 
	

4 
Give two examples of symmetry around 
you. Outline a strategy to help children learn 
the concept of symmetry. 

7. (a) Explain how mathematics is a language. 	6 
Further give two distinct activities to help 
assess how comfortable a child is with her 
language. 
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(b) Differentiate between instant of time and 	4 

time interval with the help of suitable 
example. What game would you plan for 
children to understand these concepts ? 

	

8. 	(a) Explain the meaning of 'equivalent 	5 
fractions'. Further, give two fractions 

2 
equivalent to 7 . Also, design an activity for 

a class 4 child to help her understand why 

1 	2 	 1 	1 
—
2 

and —
4 

are equivalent, and —
2 

and —
4 

are 

not equivalent. 
(b) Give an example each, with justification, of 

	
3 

a situation in which a child uses deductive 
reasoning . 
(i) While playing. 
(ii) In Mathematics. 

(c) Explain the relationship of arithmetic and 
	

2 
algebra with the help of a suitable example. 

	

9. 	(a) The teacher in a class asked students to write 	2 
in digits "Four Hundred Eight". Radha 
wrote '4008'. Identify the mistake made by 
Radha. Give probable reason for making the 
mistake. 

(b) Develop a detailed unit plan for teaching 	8 
the concept of place value to the children of 
class 2. 

10. Classify the following statements as giving 
justification for your answer. Attempt any five. 
(a) Each child is unique. 	 5x2=10 
(b) Children's errors are not helpful to teacher 

in any way. 
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(c) When children can define angle it means 
they have understood the concept? 

(d) Height can be represented by a variable. 
(e) If we increase the perimeter the area will 

also increase. 
(f) Teaching integers is not helpful in day to 

day life. 
(g) Capacity and volume are one and the same 

for any object. 
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